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Explanations and answers to select questions

01. The parts of speech are 8 (eight) in number. They are : Noun, Pronoun, Adjective, Verb,
Adverb, Preposition, Conjunction and Interjection. ‘Article’ is not a part of speech. So,
option ‘A’ is the correct answer.

04. ‘Chick’ is a baby chicken. And the sound made by a chick is ‘Cheep’. The sound made
by a grown up ‘Chicken’ is ‘Cluck’. So, option ‘D’ : ‘Cheep’ is the correct answer.

10. The two adjectives are : ‘timely’ and ‘useful’.

‘Two’ is the correct answer. The adjectives are : ‘His’, a possessive adjective and
‘timely’, an adjective of quality. Possessive adjectives in English refer to the possessor
and not to the thing possessed. ‘His’ could have been a possessive pronoun if it would
have appeared after the noun ‘action’ as in, “The useful timely action was his”. So,
option ‘B’ is the correct answer.

12. ‘Rain’ is not a collective noun. It is an uncountable noun addressed mostly in singular.
Only when it is referred to as a season, though uncountable, it is addressed in the
plural as in, ‘This year we received heavy rains’. Every collective noun is essentially a
singular noun as it denotes ‘one undivided whole’, and can be made into a plural; like
‘flock’ and ‘flocks’; ‘herd and ‘herds’, etc. ‘Cloud’ is a collective noun for smoke. So,
option ‘B’ is the correct answer. ‘Storm’ is not a collective noun.

16. Option (D) is the correct answer. Option (A) can not be the correct answer, because,
in there, the first word ‘every’, doesn’t start with a capital letter, which is a
requirement, as that word comes in the beginning of that sentence.
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